
 

cg';"rL–% 
j8fj6f ;+rfng ul/g] of]hgfx? 

 

j8f g+= &, t]jfª, /f]Nkf 
1. cfly{s ljsf; 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg ljlgof]lht /sd 

1 s[lif sfo{qmd t]jfª  300,000 

2 lzj dlGb/ /ª /f]ug /fHokf]v/L 50,000 

hDdf 350,000 

 

2. ;fdflhs ljsf; 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg ljlgof]lht /sd 

1 ln:g] k|f= lj= gofF kf]v/L 3]/fjf/ gofFkf]v/L 300,000 

2 l;nfO{ s6fO{ -dlxnf tkm{_ /fHokf]v/L 200,000 

3 l;nfO{ s6fO{ -blnt tkm{_ /fHokf]v/L 200,000 

hDdf 700,000 

 

3. k"jf{wf/ ljsf; 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg ljlgof]lht /sd 

1 
v]/]ªvf]nf ;Nn]kfgL w}/]kf]v/f df]= af= lgdf{0f 
of]hgf 

v]/]ªvf]nf ;Nn]kfgL 
w}/]kf]v/f 

400,000 

2 hf}nLkf]v/L wf/fvs{ df]= af= lgdf{0f of]hgf hf}nLkf]v/L wf/fvs{ 400,000 

3 

;'lnrf}/, /fHokf]v/L, no/], g'n], gofF/fd, 
lr:kfwf/f, w'Gjfª, bf]jf6f df]= af= ;kmfO{ dd{t 
of]hgf 

;'lnrf}/,  /fHokf]v/L, no/], 
g'n], gofF/fd, lr:kfwf/f, 
w'Gjfª, bf]jf6f 

1,300,000 

4 vf]/jfª, ;''l;jfª df]= af= lgdf{0f of]hgf vf]/jfª, ;''l;jfª 300,000 

5 
/fHokf]v/L b]lv lhpkf]v/f ;Dd df]= af= lgdf{0f 
of]hgf 

/fHokf]v/L, lhpkf]v/f 150,000 

6 ;Nn]kfgL vf= kf= lgdf{0f dd{t of]hgf ;Nn]kfgL 200,000 

7 e};Lk'/] df]= af= lgdf{0f of]hgf e};Lk'/] 150,000 

8 leªu|Lkfl6, 3/]nLwf/f df]= af= lgdf{0f of]hgf leªu|Lkfl6, 3/]nLwf/f 1,000,000 

9 bfdvf]nf vf= kf= 6ÍL lgdf{0f of]hgf bfdvf]nf 500,000 

10 lr:kfvf]nf l;+rfO{ s'nf] dd{t of]hgf lr:kfvf]nf 100,000 

11 lzjfno k|f= lj= ejg dd{t of]hgf ;/Ë]kf]v/f 250,000 

12 gjgd'gf jfn k|f= lj= ejg dd{t bf]jf6f 250,000 

13 hglk|o k|f= lj= ejg dd{t lr:dfwf/f 150,000 



 

14 s's'/uf/] vf= kf= 6ÍL dd{t of]hgf s's'/ uf/] 180,000 

15 lr:kfwf/f vf= kf= OG6]s dd{t of]hgf lr:kfwf/f 120,000 

16 sd]/] vf= kf= 6ÍL dd{t of]hgf sd]/] 150,000 

17 lg/xL vf= kf= dd{t of]hgf lg/xL 100,000 

18 ufFp3/ lSnlgs ejg lgdf{0f of]hgf rgLuf/] 500,000 

hDdf 6,200,000 

 

4. jftfj/0f tyf ljkb Joj:yfkg 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg ljlgof]lht /sd 

1 j[Iff/f]kg sfo{qmd t]jfª 50,000 

2 
lr;fkfgL xDkn cdLn] vf= kf= d'xfg ;+/If0f 
of]hgf 

lr:kfwf/f 400,000 

3 kfy|]kfgL d'xfg ;+/If0f of]hgf kfy|]kfgL 100,000 

hDdf 550,000 

 

5. ;+:yfut ljsf;  ;]jf k|efx / ;'zf;g 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg ljlgof]lht /sd 

1 
sd{rf/L, kbflwsf/L, Ifdtf ljsf; tflnd / 
sfof{no ;DaGwL cGo Joj:yf 

j8f sfof{no 200,000 

hDdf 200,000 

;a} hDdf j8f g+ & 8,000,000 

 




